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WA 5 9 R FE A ELE R | FRBB G JR AR b KT 4, C R s Al AL CIE o
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B 2 mol AICL TUSHFE T 1 mol ALLCl, B4 AT 3 mol AL Cl, b~ = AULSBITEEALF L% 33% D
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B EVAZE AT O, A ST e VSEPR 03, 14T it PRI S A S0, T8 5 A28 FCBL BRI sp'd
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B v
ARG O8)
[ERiRE FEXER FEESULE, FE55. FERER,F1 9]

OH ¢

OH
7 ANK
(4)5(25) pb 25) Oz*ﬁ* OHaz/) (245, bR R T PR )
O

[FoiRkE: 51 EIER,F2 97, HIAFR, FED]

[f#dT] (3) ted B.C.D &5 AT A, B—D S i &l =4 s A, KAk T R B i, ik i i, I
W 7 4y A L e S o TE SR REA T, B e 7 AR R R A

()M, T & e, sk fay X R

s 0 0 OH

7 = OH OH ™ -, ; };

0 S on - g D\CO T Beikcrwnrn \
OH

) CRRBRIET R AT
0

(265 ) (1) WU, By L1542 (2 48)
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(b ] (2) AR, RSN i BRI B SAR B AIK
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[fdr ] (D) ARIERE A = + (a+b+c)k] - mol ™',
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(R FEEE R 0. 5p, kPa /N8, P-4 ) 1E 5N 7 10 8% 8l e 28 i i e 3 55 1 R 58 . T LA p (H,0) {i
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(6) OMRHEHL FHEA f =Rl HT A IS Ca JFF,B A Ca™,C HEAD Ca 5T ,D M A Ca’ , # L AHE
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BRE. BRI 4 HT B A D C s RE AR R/, 3 B,

‘ . B . ) 400 400 N, xx
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